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Questions 
1. Which of the following is a basic classification of Engineering Materials?
a) Metals
b) Non-Metals
c) Both Metals & Non-Metals
d) None of the mentioned

2. Which of the following is an example of a thermoplastic?
a) Melamine
b) Epoxide
c) Urethane
d) Acetal

3. Which of the following class of engineering ceramics generally includes lubricant materials?
a) Metalloids
b) Intermetallics
c) Sulphides
d) Carbides

4. On which of the following materials the compressive test is done?
a) Aluminum
b) Thermocole
c) Cast iron
d) Gold

5. Which of these is not a function of alloy steels?
a) Improves ductility
b) Improves machinability
c) Increases strength
d) Reduces cost

6. Which of the following is the primary element used for making stainless steel alloy?
a) Vanadium
b) Indium
c) Chromium
d) Zirconium

7. Which of the following carbides are used for cutting tools?
a) Chromium carbide
b) Silicon carbide
c) Tungsten carbide
d) Vanadium carbide

8. Which of the following machine is used to measure compressive strength?
a) Universal testing machine
b) Impact testing machine
c) Fatigue testing machine
d) Erichsen machine

9. With an increase in strain rate, ductility ______ and tensile strength _____
a) Decreases, decreases
b) Decreases, increases
c) Increases, increases
d) Increases, decreases

10. In what terms, fatigue life is measured?
a) Time of failures
b) Number of cycles of failure
c) Stress of failure
d) Appearance of fracture

11. Which of the following is the basic principle of fluid mechanics?
a) Momentum principle
b) Energy equation
c) Continuity equation
d) All of the mentioned

12. If a person studies about a fluid which is at rest, what will you call his domain of study?
a) Fluid Dynamics
b) Fluid Mechanics
c) Fluid Statics
d) Fluid Kinematics

13. Which of the following method is most commonly used in fluid mechanics for analysis?
a) Eulerian Method
b) Control volume analysis
c) Langragian method
d) None of the mentioned

14. When is a fluid called turbulent?
a) High viscosity of fluid
b) Reynolds number is greater than 2300
c) Reynolds number is less than 2000
d) The density of the fluid is low

15. The compressible flow is assumed to be _____________
a) Adiabatic only
b) Isentropic only
c) Isentropic and adiabatic
d) Polytropic

16. Which of the following is a type of fluid based on viscosity?
a) Real Fluid
b) Ideal Fluid
c) Newtonian Fluid
d) All of the mentioned

17. When the body is completely or partially immersed in a fluid, how much its weight be distributed for it to be in stable equilibrium.
a) Is independent of weight distribution
b) Around the lower part
c) Around the upper part
d) None of the mentioned


18. Which of the following is a formula for the friction factor of circular pipes?
a) Re/64
b) 16/Re
c) 64/Re
d) Re/16

19. Which among the following have the same forces acting on them?
a) Dynamic similarity
b) Geometric similarity
c) Conditional similarity
d) Kinematic similarity

20. Pressure variation for compressible fluid is maximum for which of the following kind of process?
a) Adiabatic
b) Quasi Static
c) Isothermal
d) None of the mentioned

21. An adiabatic process is one in which
a) No heat enters or leaves the gas
b) The temperature of the gas changes
c) The change in internal energy is equal to the mechanical work-done
d) All of the above

22. Work-done in a free expansion process is
a) zero
b) minimum
c) maximum
d) positive

23. The efficiency of Diesel cycle approaches to Otto cycle efficiency when
a) Cut-off is increased
b) Cut-off is decreased
c) Cut-off is zero
d) Cut-off is constant

24. If the value of n = 0 in the equation pvn = C, then the process is called
a) Constant volume process
b) Adiabatic process
c) Constant pressure process
d) Isothermal process



25. Which of the following statement is incorrect?
a) The liquid fuels consist of hydrocarbons.
b) The liquid fuels have higher calorific value than solid fuels.
c) The solid fuels have higher calorific value than liquid fuels.
d) A good fuel should have low ignition point.

26. One kg of carbon monoxide requires __________ kg of oxygen to produce 11/7 kg of carbon dioxide gas.
a) 8/7
b) 4/7
c) 11/4
d) 9/7

27. When heat is transferred from one particle of hot body to another by actual motion of the heated particles, it is referred to as heat transfer by
a) Conduction
b) Convection
c) Radiation
d) Conduction and convection

28. The insulation ability of an insulator with the presence of moisture would
a) Increase
b) Decrease
c) Remain unaffected
d) May increase/decrease, depending on temperature and thickness of insulation

29. Heat transfer in liquid and gases takes place by
a) Conduction
b) Convection
c) Radiation
d) Conduction or convection depending upon the fluid movement

30. Metals are good conductors of heat because
a) their atoms collide frequently
b) their atoms-are relatively far apart
c) they contain free electrons
d) they have high density




31. Which of the following is a case of steady state heat transfer?
a) I.C. Engine
b) Air preheaters
c) Heating of building in winter
d) None of the above

32. Temperature of steam at around 540°C can be measured by
a) Thermometer
b) Radiation UV- pyrometer
c) Thermistor
d) Thermocouple

33. Heat flows from one body to other when they have
a) Different heat contents
b) Different specific heat
c) Different atomic structure
d) Different temperatures

34. LMTD in case of counter flow heat exchanger as compared-to parallel flow heat exchanger is
a) Higher
b) Lower
c) Same
d) Depends on the area of heat exchanger

35. A steam pipe is to be insulated by two insulating materials put over each other for best results
a) Better insulation should be put over pipe and better one over it
b) Inferior insulation should be put over pipe and better one over it
c) Both may be put in any order
d) Whether to put inferior oil over pipe or the better one would depend on steam temperature

36. According of Kirchhoff's law,
a) Radiant heat is proportional to fourth power of absolute temperature
b) Emissive power depends on temperature
c) Emissive power and absorptivity are constant for all bodies
d) Ratio of emissive power to absorptive power for all bodies is same and is equal to the emissive power of a perfectly black body.



37. The concept of overall coefficient of heat transfer is used in case of heat transfer by
a) Conduction
b) Convection
c) Radiation
d) Conduction and convection

38. Joule sec is the unit of
a) Universal gas constant
b) Kinematic viscosity
c) Thermal conductivity
d) Planck's constant

39. Emissivity of a white polished body in comparison to a black body is
a) Higher
b) Lower
c) Same
d) Depends upon the shape of body

40. A grey body is one whose absorptivity
a) Varies with temperature
b) Varies with wavelength of the incident ray
c) Is equal to its emissivity
d) Does not vary with temperature and. Wavelength of the incident ray

41. A vapor compression refrigeration system is an improved type of air refrigeration system in which a suitable working substance, termed as refrigerant is used.
a) True
b) False

42. The vapor compression refrigeration system is similar to a ________
a) Latent heat pump
b) Latent heat engine
c) Generator
d) Evaporator

43. The COP of vapor compression refrigeration compared to simple air refrigeration system is 
a) high
b) low
c) same
d) None of above

44. The low pressure and temperature vapor refrigerant enters the ______ of the vapor compression system.
a) compressor
b) condenser
c) receiver
d) evaporator

45. The pipe line emanating from compressor up to the condenser is called ________
a) Suction line
b) Pipe line
c) Liquid line
d) Delivery line

46. After which process during the VCR cycle, the highest temperature is achieved?
a) Evaporation
b) Expansion
c) Condensation
d) Compression

47. In a domestic vapour compression refrigerator, which of the following refrigerants commonly used?
a) CO2
b) NH3
c) Freon
d) Air

48. What is the effect of an increase in discharge pressure on C.O.P.?
a) C.O.P. decreases
b) C.O.P. increases
c) C.O.P. remains the same
d) C.O.P. becomes zero

49. Which of the following factor of the actual VCR affects severely the coefficient of performance?
a) Increase in suction pressure
b) Decrease in discharge pressure
c) Decrease in suction pressure
d) Increase in discharge pressure

50. Mass of refrigerant required in the heat exchanger is exactly equal to the mass of flash that would form in a simple saturation cycle.
a) True
b) False

51. Which hydraulic machine convert mechanical energy into pressure energy?
a) Pump
b) Refrigerator
c) Heat engine
d) Turbine

52. Dynamic pumps are also known as ______
a) Positive displacement pumps
b) Non-positive displacement pumps
c) Reciprocating pump
d) Rotary pump

53. Which of the following is not an advantage of centrifugal pump?
a) Low initial cost
b) High efficiency
c) Difficult installation
d) Easy maintenance

54. Negative slip occurs in reciprocating pumps, when delivery pipe is ______
a) Long and suction pipe is short and pump is running at low speed
b) Long and suction pipe is short and pump is running at high speed
c) Short and suction pipe is long and pump is running at low speed
d) Short and suction pipe is long and pump is running at high speed

55. Which one of the following is not an assumption of condensation heat regime taken to calculate the heat transfer coefficient?
a) Presence of linear temperature profile
b) Absence of high pressure
c) Absence of viscous shear of the vapour
d) Thickness of the film is too small to create a temperature difference

56. Wet bulb depression, under saturated ambient air conditions _____________
a) Is always positive
b) Is always negative
c) Is always zero
d) May have value depending upon the dew point temperature

57. When a stream of moist air is passed over a cold and dry cooling coil such that no condensation takes place, then the air stream will get along the line of __________
a) Constant wet bulb temperature
b) Constant dew point temperature
c) Constant relative humidity
d) Constant enthalpy

58. If the structure is divided into discrete areas or volumes then it is called an _______
a) Structure
b) Element
c) Matrix
d) Boundaries

59. In finite element modeling nodal points are connected by unique ________
a) Surface
b) Shape
c) Eigen values
d) Matrix

60. In finite element modeling every element connects to _______
a) 4 nodes
b) 3 nodes
c) 2 nodes
d) Infinite no of nodes

61. In one dimensional problem, each node has _________ degrees of freedom.
a) 2 degrees of freedom
b) 3 degrees of freedom
c) No degrees of freedom
d) 1 degree of freedom

62. Plane trusses are also known as _____
a) One–dimensional trusses
b) Two-dimensional trusses
c) Three-dimensional trusses
d) Poly dimensional trusses

63. A truss structure consists only ___ force members.
a) Only one
b) Two
c) Three
d) Poly

64. The truss element is a _____ when we see it in a local co-ordinate system.
a) Three dimensional
b) One dimensional
c) Two dimensional
d) Thermal component

65. Which of the following disciplines provides study of inertia forces arising from the combined effect of the mass and motion of the parts?
a) Theory of machines
b) Applied mechanics
c) Kinematics
d) Kinetics

66. Which of the following disciplines provides study of relative motion between the parts of a machine?
a) Theory of machines
b) Applied mechanics
c) Kinematics
d) Kinetics

67. A wheel accelerates uniformly from rest to 2000 r.p.m. in 20 seconds. How many revolutions does the wheel make in attaining the speed of 2000 r.p.m.?
a) 400
b) 300
c) 333.4
d) 200

68. When a particle moves along a straight path, then the radius of curvature is
a) Infinitely small
b) Zero
c) Infinitely great
d) None of the mentioned

69. A horizontal bar 1.5 metres long and of small cross-section rotates about vertical axis through one end. It accelerates uniformly from 1200 r.p.m. to 1500 r.p.m. in an interval of 5 seconds. What is the linear velocity at end of the interval?
a) 188.6 m/s
b) 235.5 m/s
c) 300 m/s
d) 400 m/s

70. In a squared and ground helical spring the effective number of turns is increased by
a) 1
b) 2
c) 1.5
d) 0


71. Stiffness of the spring can be increased by
a) Increasing the number of turns
b) Increasing the free length
c) Decreasing the number of turns
d) Decreasing the spring wire diameter

72. The two parallel and coplanar shafts are connected by gears having teeth parallel to the axis of the shaft. This arrangement is called
a) Spur gearing
b) Helical gearing
c) Bevel gearing
d) Spiral gearing

73. In a cone pulley, if the sum of radii of the pulleys on the driving and driven shafts is constant, then
a) Open belt drive is recommended
b) Crossed belt drive is recommended
c) Both open belt drive and crossed belt drive is recommended
d) The drive is recommended depending upon the torque transmitted

74. When two pulleys of different diameters are connected by means of an open belt, the angle of contact at the _________pulley must be taken into consideration.
a) Smaller
b) Larger
c) Medium
d) None of the mentioned

75. V-belts are usually used for
a) long drives
b) short drives
c) long and short drives
d) none of the mentioned

76. Orthographic projection is drawn using two methods which is ___________
a) Second angle and third angle method
b) First angle and third angle method
c) First angle and fourth angle method
d) Second angle and fourth angle method

77. In first angle method the top view is drawn _______ of the front view.
a) Above
b) Right side
c) Left side
d) Bottom

78. If the total detail is not obtained from the three directional views the ______ is drawn.
a) Pictorial view
b) Oblique view
c) Perspective view
d) Two-dimensional view

79. Shear stress at top most fibre of rectangular section is _____________
a) Maximum
b) Minimum
c) Zero
d) Uniform through out

80. In steel sections, the junction between a flange and web is known as ________
a) Edge
b) Fillet
c) Corner
d) Lug

81. The endurance limit in shear of carbon steel can be obtained by multiplying the endurance limit in flexure by a factor of
a) 0.25
b) 0.45
c) 0.55
d) 0.75

82. At low temperatures (say 75°C) the notched-bar impact value of steel
a) Increases markedly
b) Decreases markedly
c) Remains same
d) Depends on heat treatment carried out

83. The crest diameter of a screw thread is same as
a) Major diameter
b) Minor diameter
c) Pitch diameter
d) Core diameter





84. Maximum principal stress theory is applicable for
a) Ductile materials
b) Brittle materials
c) Elastic materials
d) All of the above

85. The deflection of a cantilever beam under load W is 8. If its width is halved, then the deflection under load W will be
a) 28
b) 8/2
c) 48
d) 8/4

86. Machine screws are
a) Similar to small size tap bolts except that a greater variety of shapes of heads are available
b) Slotted for a screw driver and generally used with a nut
c) Used to prevent relative motion be-tween two parts
d) Similar to stud

87. Rivets are generally specified by
a) Thickness of plates to be riveted
b) Length of rivet
c) Diameter of head
d) Nominal diameter

88. The edges of a boiler plate are bevelled to an angle of
a) 30°
b) 45°
c) 60°
d) 80°

89. In order to avoid tearing of the plate at edge, the distance from the center line of the rivet hole to the nearest edge of the plate in terms of dia. of rivet d should be equal to
a) d
b) 1.25 d
c) 1.5 d
d) 1.75 d

90. Transverse fillet welded joints are designed for
a) Tensile strength
b) Compressive strength
c) Shear strength
d) Bending strength

91. Scavenging air in diesel engine means
a) Air used for combustion sent under pressure
b) Forced air for cooling cylinder
c) Burnt air containing products of combustion
d) Air used for forcing burnt gases out of engine's cylinder during the exhaust period

92. The ratio of indicated thermal efficiency to the corresponding air standard cycle efficiency is called
a) Net efficiency
b) Cycle efficiency
c) Relative efficiency
d) Overall efficiency

93. If the intake air temperature of I.C. engine increases, its efficiency will
a) Increase
b) Decrease
c) Remain same
d) Unpredictable

94. Fuel oil consumption guarantees for I.C. engine are usually based on
a) Low heat value of oil
b) High heat value of oil
c) Net calorific value of oil
d) Calorific value of fuel

95. If the compression ratio of an engine working on Otto cycle is increased from 5 to 7, the percentage increase in efficiency will be
a) 2%
b) 4%
c) 8%
d) 14%

96. The maximum temperature in the I.C. engine cylinder is of the order of
a) 500 - 1000°C
b) 1000 - 1500°C
c) 1500 - 2000°C
d) 2000 - 2500°C

97. The temperature of interior surface of cylinder wall in nonnal operation is not allowed to exceed
a) 80°C
b) 120°C
c) 180°C
d) 240°C

98. The saturation temperature of steam with increase in pressure increases
a) Linearly
b) Rapidly first and then slowly
c) Slowly first and then rapidly
d) Inversely

99. The equivalent evaporation of a boiler is a measure to compare
a) The given boiler with the model
b) Any type of boilers operating under any conditions.
c) Two different makes of boilers operating under the same operating conditions
d) Two boilers of same make but operating under different conditions

100. The moisture content in the later stages of steam turbine ________ when the plant is operating at lower condenser pressure. 
a) Increases 
b) Decreases
c) Remain constant 
d) May increase or decrease
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